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SE Shleog > LA
N gm b I i F—F Joux
m

n 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

0.1 0.0047 | 0.0092 | 0.0132 | 0.0168 | 0.0198 | 0.0222 | 0.0242 | 0.0258 | 0.0270 | 0.0279
0.2 0.0092 | 0.0179 | 0.0259 | 0.0328 | 0.0387 | 0.0435 | 0.0474 | 0.0504 | 0.0528 | 0.0547
0.3 0.0132 | 0.0259 | 0.0374 | 0.0474 | 0.0559 | 0.0629 | 0.0686 | 0.0731 | 0.0766 | 0.0794
0.4 0.0168 | 0.0328 | 0.0474 | 0.0602 | 0.0711 | 0.0801 | 0.0873 | 0.0931 | 0.0977 | 0.1013
0.5 0.0198 | 0.0387 | 0.0559 | 0.0711 | 0.0840 | 0.0947 | 0.1034 | 0.1104 | 0.1158 | 0.1202
0.6 0.0222 | 0.0435 | 0.0629 | 0.0801 | 0.0947 | 0.1069 | 0.1168 | 0.1247 | 0.1311 | 0.1361
0.7 0.0242 | 0.0474 | 0.0686 | 0.0873 | 0.1034 | 0.1169 | 0.1277 | 0.1365 | 0.1436 | 0.1491
0.8 0.0258 | 0.0504 | 0.0731 | 0.0931 | 0.1104 | 0.1247 | 0.1365 | 0.1461 | 0.1537 | 0.1598
0.9 0.0270 | 0.0528 | 0.0766 | 0.0977 | 0.1158 | 0.1311 | 0.1436 | 0.1537 | 0.1619 | 0.1684
1.0 0.0279 | 0.0547 | 0.0794 | 0.1013 | 0.1202 | 0.1341 | 0.1491 | 0.1598 | 0.1684 | 0.1752
1.2 0.0293 | 0.0573 | 0.0832 | 0.1063 | 0.1263 | 0.1431 | 0.1570 | 0.1684 | 0.1777 | 0.1851
1.4 0.0301 | 0.0589 | 0.0856 | 0.1094 | 0.1300 | 0.1475 | 0.1620 | 0.173%9 | 0.1836 | 0.1914
1.6 0.0306 | 0.0599 | 0.0871 | 0.1114 | 0.1324 | 0.1503 | 0.1652 | 0.1774 | 0.1874 | 0.1955
1.8 0.0309 | 0.0606 | 0.0880 | 0.1126 | 0.1340 | 0.1521 | 0.1672 | 0.1797 | 0.1899 | 0.1981
2.0 0.0311 | 0.0610 | 0.0887 | 0.1134 | 0.1350 | 0.1533 | 0.1686 | 0.1812 | 0.1915 | 0.199¢9
2.5 0.0314 | 0.0616 | 0.0895 | 0.1145 | 0.1363 | 0.1548 | 0.1704 | 0.1832 | 0.1938 | 0.2024
3.0 0.0315 | 0.0618 | 0.0898 | 0.1150 | 0.1368 | 0.1555 | 0.1711 | 0.1841 | 0.1947 | 0.2034
4.0 0.0316 | 0.0619 | 0.0901 | 0.1153 | 0.1372 | 0.1560 | 0.1717 | 0.1847 | 0.1954 | 0.2042
5.0 0.0316 | 0.0620 | 0.0901 | 0.1154 | 0.1374 | 0.1561 | 0.1719 | 0.1849 | 0.1956 | 0.2044
6.0 0.0316 | 0.0620 | 0.0902 | 0.1154 | 0.1374 | 0.1562 | 0.1719 | 0.1850 | 0.1957 | 0.2045

s ashl
m

n 1.2 1.4 1.6 1.8 2.0 2.5 3.0 4.0 5.0 6.0

0.1 0.0293 | 0.0301 | 0.0306 | 0.0309 | 0.0311 | 0.0314 | 0.0315 | 0.0316 | 0.0316 | 0.0316
0.2 0.0573 | 0.0589 | 0.0599 | 0.0606 | 0.0610 | 0.0616 | 0.0618 | 0.0619 | 0.0620 | 0.0620
0.3 0.0832 | 0.0856 | 0.0871 | 0.0880 | 0.0887 | 0.0895 | 0.0898 | 0.0901 | 0.0901 | 0.0902
0.4 0.1063 | 0.1094 | 0.1114 | 0.1126 | 0.1136 | 0.1145 | 0.1150 | 0.1153 | 0.1154 | 0.1154
0.5 0.1263 | 0.1300 | 0.1324 | 0.1340 | 0.1350 | 0.1363 | 0.1368 | 0.1372 | 0.1374 | 0.1374
0.6 0.1431 | 0.1475 | 0.1503 | 0.1521 | 0.1533 | 0.1548 | 0.1555 | 0.1560 | 0.1561 | 0.1562
0.7 0.1570 | 0.1620 | 0.1652 | 0.1672 | 0.1686 | 0.1704 | 0.1711 | 0.1717 | 0.1719 | 0.1719
0.8 0.1684 | 0.1739 | 0.1774 | 0.1797 | 0.1812 | 0.1832 | 0.1841 | 0.1847 | 0.184%9 | 0.1850
0.9 0.1777 | 0.1836 | 0.1874 | 0.1899 | 0.1915 | 0.1938 | 0.1947 | 0.1954 | 0.1956 | 0.1957
1.0 0.1851 | 0.1914 | 0.1955 | 0.1981 | 0.1999 | 0.2024 | 0.2034 | 0.2042 | 0.2044 | 0.2045
1.2 0.1958 | 0.2028 | 0.2073 | 0.2103 | 0.2124 | 0.2151 | 0.2163 | 0.2172 | 0.2175 | 0.2176
1.4 0.2028 | 0.2102 | 0.2151 | 0.2184 | 0.2206 | 0.2236 | 0.2250 | 0.2260 | 0.2263 | 0.2264
1.6 0.2073 | 0.2151 | 0.2203 | 0.2237 | 0.2261 | 0.2294 | 0.2309 | 0.2320 | 0.2323 | 0.2325
1.8 0.2103 | 0.2183 | 0.2237 | 0.2274 | 0.2299 | 0.2333 | 0.2350 | 0.2362 | 0.2366 | 0.2367
2.0 0.2124 | 0.2206 | 0.2261 | 0.2299 | 0.2325 | 0.2341 | 0.2378 | 0.2391 | 0.2395 | 0.2397
2.5 0.2151 | 0.2236 | 0.2294 | 0.2333 | 0.2361 | 0.2401 | 0.2420 | 0.2434 | 0.243%9 | 0.2441
3.0 0.2163 | 0.2250 | 0.2309 | 0.2350 | 0.2378 | 0.2420 | 0.2439 | 0.2455 | 0.2461 | 0.2463
4.0 0.2172 | 0.2260 | 0.2320 | 0.2362 | 0.2391 | 0.2434 | 0.2455 | 0.2472 | 0.2479 | 0.2481
5.0 0.2175 | 0.2263 | 0.2324 | 0.2366 | 0.2395 | 0.2439 | 0.2460 | 0.2479 | 0.2486 | 0.2489
6.0 0.2176 | 0.2264 | 0.2325 | 0.2367 | 0.2397 | 0.2441 | 0.2463 | 0.2482 | 0.2489 | 0.2492
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o, =q(%0c—sin2[5)/27‘c (OV-%)
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o =tan"!(x/z)—tan"'[(x —2b)/z] (\VA-%)

B =tan"'[(x —2b)/z] (\a-#)
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o, =tan"'(0.0/8.0) — tan"'[(0.0 —8.0)/8.0] = 45°

B, =tan"'[(0.0—8.0)/8.0]=—45.0°

N =%[o.o —§in(2x 45.0°)] =15.9kPa

:M)lo B 4]4.0.» §|f
g =tan™' (8.0/8.0) —tan"'[(8.0 —8.0) /8.0] = 45°

By =tan'[(8.0—8.0)/8.0]=0.0°

0,5 = 080 s T _0.0)=25.0kPa
2m 4.0 180°
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o =tan”' (18.0/8.0) — tan™'[(18.0 —8.0)/8.0] =14.7°

Be = tan~'[(18.0—8.0)/8.0]=51.34°

o, _100, 180 1y 7e T in(2x51.34°)] = 2.8kPa
21 4.0 180°
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n=b/2=5.0/10.0=0.5
1 2405 2

I =—( tan

“ gt 2 140.5% +2%0.5

0,4 =2x(20x10)x 0.4367 =174.7 kPa

+tan~! 0.5)=0.4367
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cd=15m, de=0.5%x15.0=7.5m, ef =10.0-7.5=2.5m, fg=5.0m, fh=15m
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a=>b q=7xh(kPa) m n I c,(kPa)
cde 20%7.5=150 1.5 0.0 03128  46.92
dfhi 20%10 =200 2.0 1.5 0.4853  97.06
efg 20x—-2.5=-50 0.5 0.0 0.1476  -7.38

6,5 =46.92+97.06 — 7.38 =136.6 kPa
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